
FORM 160.69-RP2 (522)

JOHNSON CONTROLS76

VARIABLE GEOMETRY DIFFUSER

TABLE 21 - VARIABLE GEOMETRY DIFFUSER (K1/K2)

ITEM DESCRIPTION PART 
NUMBER QUANTITY FIGURE

- VGD Assembly with Nozzle Baseplate (K1) 464 52812 000 - -
- VGD Assembly with Nozzle Baseplate (K2) 464 52813 000 - -
1 Ring, VGD Diffuser (K1) 064 51767 000 1 42
1 Ring, VGD Diffuser (K2) 064 51712 000 1 42
2 Screw, Cap Hex Soc Hd 5/16 021 31527 000  8 42
3 Pin, Drive 064 50470 000  4 42
4 Bearing, Mcgill Cf-3/4-B 029 24103 000  8 42
5 Nut, Hex 3/8 - 24 Unf-2b: 021 00474 000  8 42
6 Spacer, VGD 064 50758 000  4 42
7 Bearing, Mcgill Cyr 1 3/8 029 24104 000  4 42
8 Screw, Cap Hex Soc Hd 3/8 021 01508 000  4 42
9 Washer, Plain .384 Id X 5/8 Od 021 31155 000  4 42

10 Support, Axial Bearing 064 51714 000  4 42
11 Bushing, Eccentric 064 51713 000  4 42
12 Screw, Cap Hex Soc Hd 021 19223 000  8 42
13 Screw, Cap Hex Soc Hd 5/16 021 31326 000  2 42
14 Bushing, Garlock 16du12 029 24100 000  8 42
15 Washer, Conical Disk 021 31324 000  24 42
16 Washer, Plain Hardened 3/8 Id 021 31323 000  4 42
17 Screw, Cap Hex Soc Hd 1/4 021 02578 000  1 42
18 Screw, Set Hex Socket 1/4 021 31328 000  2 42
19 Pin, Tensioner VGD Drive Ring 064 50830 000  2 42
22 Block, Tensioner VGD Drive Ring 064 50824 000  2 42
23 Screw, Shoulder Soc Hd 5/16 021 31322 000  2 42
24 Ring, Drive VGD (K1) 064 51766 000 1 42
24 Ring, Drive VGD (K2) 064 51710 000 1 42

NOTE: Items with an * are NOT represented.




